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P0 = 0.4kW
τ0 = 5ps β2 = −1ps2/km γ = 10.5W−1km−1 z = 6m

z = 7m z = 8m β3 = 0
β3 = 0.01ps3/km β3 = 0.05ps3/km β3 = 0.1ps3/km
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P0 = 0.4kW
τ0 = 5ps γ = 10.5W−1km−1 β3 = 0 z = 5m
z = 6m z = 7m β2 = −1ps2/km β4 = 0 β2 = 0 β4 =
−6×10−4ps4/km β2 = −1ps2/km β4 = 6×10−4ps4/km β2 = −1ps2/km
β4 = −6 × 10−4ps4/km
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N = 2.2
β3 = 0.01ps3/km

β3 = 0.03ps3/km
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β2 > 0

sech τ0 = 1.8ps P0 = 16W
β2 = 0.2ps2/km β3 = 0.01ps3/km

z = 445m

β(ω)

β2 = 0.2ps2/km
β3 = 0.01ps3/km
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z=445m
z=545mb)

sech2 τ0 = 1.8ps
P0 = 16W β2 = 0.2ps2/km β3 = 0.01ps3/km γ =

10.5W−1km−1 z = 445m z = 545m

β3 = 0.01ps3/km
β4 = 2×10−4ps4/km

β4(= 2 × 10−4ps4/km)
β4 = 0



τ0 = 1.8ps
P0 = 16W 1km β2 = 0.2ps2/km β3 = 0 β4 = 0

β3 = 0.01ps3/km β4 = 0 β3 = 0.01ps3/km β4 = 2 × 10−4ps4/km

β4

β4 = 2 × 10−4ps4/km β4 = 3 × 10−4 β4

P0

≈ 13THz



β2 = 0.2ps2/km β3 = 0.01ps3/km
β4 β4 β4 = 2 × 10−4ps4/km
β4 = 3 × 10−4ps4/km z = 158m P0 = 64W

β4 = 2 × 10−4 β4 = 3 × 10−4






